Test Date 24/03/2023
Test Time 12:00 PM - 1:00 PM
Subject Security Assistant & Multi Tasking Staff

. 2
|xam‘w

=Prepare 50% Faster

Section : General Awareness

Q1 YRA &% 174 ST S ¥ St (ar Amm) F wftha v H St & e 7 S8 2022 i
SACITAT AT & AT 3R HEI St T, WA HATTd gRT [R5 6T ¢ 31 &1 amw
wTE?

Ans X 1. 3R
o 2. 3TTRaTH
& 3. 3R
7 4. 3T

Question ID : 630680193514
Status : Answered
Chosen Option : 2

Q.2 fi=fafaa ¥ ¥ fw difie &1 Tumafie M Wifsa gEgie BEMe 8
Ans X 1. T UEsR

X 2. arfET |rer

o 3. Ifd Arer

X 4. R 3% uRE

Question ID : 630680193531
Status : Answered
Chosen Option : 3

Q.3 afie e ¥ uia HeM werHral ¥ A v Raunfes (g e sm guEd) 7 F
b B J WY Aghia &2

Ans 1 AT
X 2. pRgd
X 3. mfgeren
X 4. BB

Question ID : 630680193521
Status : Answered
Chosen Option : 3



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q4 frafafEa ¥ A B a1 30 wal ar afera) § 78 uran orar ¥ ixam‘g
Ans X' 1.2ReRd 37T (Tartaric acid) =Prepare 50% Faster
o 2. ATEd 377 (Methanoic acid)
7 3. fafgew 3T (Citric acid)

7 4. 3iaaTfaids 317 (Oxalic acid)

Question ID : 630680193532
Status : Answered
Chosen Option : 2

Q.5 e a1g2mEl # | fFua By Wit § geig SarsiT a1 HaH YI2l §R SHardT 217
Ans 71 3B

X 2. SEhtR

X 3. 3o

X 4.gmg

Question ID : 630680193520
Status : Answered
Chosen Option : 1

Q.6 fmfafEa ¥ § fFud JTAR FHRITARIGIET (CFC) AT & |T-HTf 31T S SRaPH
Y P IuanT uR ufder e o wan g2

Ans X' 1. I Heiblel
X 2. fag e
X 3. 9T gweitar
o 4. AT Teibia

Question ID : 630680193524
Status : Answered
Chosen Option : 1

Q.7 fi=fafEa ¥ ¥ f5 wafesd H@illa (Carnatic music) Pt fHmfd Tl 7T wimar &2
Ans 1 TRl IE e

25 2. g et

& 3. AR

X 4. gywart dfaar

Question ID : 630680193530
Status : Not Answered
Chosen Option : --

Q.8 ¥, FIfH 11 BrAH, T Thigd AXEIvT M B WRd Bl g TRBR gRT U6 TqE
FTHH &S B A rgHifed fosar wa ami
Ans # 1.2014
X 2.2015
X 3.2017
X 4.2016

Question ID : 630680193533
Status : Answered
Chosen Option : 1
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Q.9 fy JIeTT & T8d 2 FRA dd6 Fel HiY A YR fFaM uRRar) # & ar 781 7 22,000

F 9 JuE forwa) o &7 wfd uRar 26,000 S axf &1 @i werA firam sirgm 2

Ans X' 1 guHEs BT BT
X 2. TUTHAT fBE™ A ¥ AT
o 3. JUTHA fpaT HE AT
X< 4. gaEEE B Fere de

. 2
|xam‘0

=Prepare 50% Faster

Question ID : 630680193519
Status : Answered
Chosen Option : 3

Q.10 fi=fefEa ¥ ¥ B A1 |l T Beitaig ¥ "alaT 7o (parrot dance)' F%Y & STHT SITdT 82

Ans X 1. 3d A
K 2. BT
< 3. BIHW T
o 4. a1

Question ID : 630680193529
Status : Answered
Chosen Option : 4

Q11 s arg B A e af o5 i 77 2t
Ans X 1.2019

X 2.2020

X 3.2021

o 4.2022

Question ID : 630680193528
Status : Answered
Chosen Option : 3

Q.12 gy Wl g A< 3 fha a9 I argq ufrsiq Aifd (National Vehicle Scrappage Policy)

BT QRN fasan?
Ans X 1.2019
o 2.2021
X 3.2020
X 4.2018

Question ID : 630680193525
Status : Answered
Chosen Option : 3

Q.13 A HrsT &1 THEAE G B
Ans X 1.Na,SO,

#< 2.Na,CO4

o 3. NaHCO,

# 4.Na,HCO,

Question ID : 630680193522
Status : Answered
Chosen Option : 4
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https://link.testbook.com/bQQ2EkH1bpb

Q.14 w2 ¥ JRTAT (RNA) §, T3 & w1 gfra grar 1
Ans X' 1.1 (cytosine)

7< 2. oTsfiA (thymine)

#< 3. 7373 (guanine)

. 0
|xam‘0

=Prepare 50% Faster

o 4. A (uracil)
Question ID : 630680193517
Status : Answered
Chosen Option : 3
Q15 e A€ &
Ans X 1.CO,
«" 2.CO
#< 3.CHy
< 4.NO,

Question ID : 630680193523
Status : Answered
Chosen Option : 2

Q.16 fimfafea ¥ ¥ P fesres ¥ ufafsa SIf@ srws i wigae 2022 S aTAT g HRATT
F1?

Ans X 1. geRT g
o 2. ReT ATET

X 3.9 4. iy
X 4. et wfces

Question ID : 630680193527
Status : Answered
Chosen Option : 2

Q.17 363 AT B 2022 ¥ HERTE A T fobet Ueab il §2
Ans  # 1.140

X 2.133

X 3.129

X 4.130

Question ID : 630680193515
Status : Answered
Chosen Option : 1

Q.18 frAfafEa ¥ ¥ o AoTqd &R P A1 ¥?

Ans X' 1.3Ra¥ g8gIaITSS (Barium hydroxide)
o 2. QIS BT8girTgs (Sodium hydroxide)
7< 3. 33w grsgiaNaTss (Ammonium hydroxide)
< 4. iAW gTegiaNTss (Aluminium hydroxide)

Question ID : 630680193518
Status : Answered
Chosen Option : 2
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Q.19 gieR 319 ABHE T A & ®Y N & I
Ans X 1. fegeart Iitd & SHE
X 2. 3THT BT & STHB

X 3. PpRIYS & b
o 4. FACH TMd & STH

. 2
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=Prepare 50% Faster

Question ID : 630680193516
Status : Not Answered
Chosen Option : --

Q.20 fi=feifEa # 9 fa 7R ¥ 2irudalsii b e siawrsia <4 3 urar fis 2022 a ufewdt &
A 31T BT W faed wR & forel} it 311 HETHTRY Y g & 3 | 4 AT Aol § 98 W H?

Ans X' 1. Jo[id HERITR
o 2. 3TTHICH HEETR
< 3. 3redifed AETR
X 4. R wemR

Question ID : 630680193526
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

Q1 = ot @ T = T TEAE e § AR A de F TeE #UT g W7 moad
T AT §| TR T4 T HH § FH 14 m o ¥ 5 A O g W oo B9 & 5w S
T 27
[n=?aﬂmﬁ‘]

X174 m?
X2 92 m?
377 m?
X4 84 m?

Ans

Question ID : 630680193539
Status : Not Answered
Chosen Option : --

Q2 fyw wAw A F o, o oY @ Tiffs =7 F Ty @ aer Ty =, AR e &
S g 87

A X105 aF
V21 a3y
X3 2ay
X415 3§

Question ID : 630680193545
Status : Answered
Chosen Option : 2
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Q3 14 m Fr W e 3R 21 m Fr IS A vF a7 RSS20 m dies i arg e F @ e
%mﬁmm%,zﬁahtfrﬁé%ﬁrﬁaﬁ@[n:?mmaﬁj

Ans X 1.150 m
X2.120 m
¥ 35 164 m
X4132 m

. 2
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=Prepare 50% Faster

Question ID : 630680193541
Status : Answered
Chosen Option : 3

Q4 A ol 0 F v foEw e # 5 Rt F @ AT §) R 5@ B ZERT WErEAT Yer & e & i
¥ et Oy w1 @ 6 R # qu i € B S W s & o R # 9w vt wear 17

Ans x 1. 18 %.?_r
v2 225 &=
X3 185 fa=
x4 205 f&T

Question ID : 630680193536
Status : Answered
Chosen Option : 2

Q5 7 v Rrame % 40 91 F1 10 5E F TeT T Wt ¢ 3 A AR Beey 54 0 & 270 99 e
FT TFa 31 AR F 3 20 OF TET I F g gaEg (99 #) S

Ans 1. 20
X2 40
X3 30
x4 10

Question ID : 630680193540
Status : Answered
Chosen Option : 1

Q.6 uiw FAFE T TEAT ¥ FH R S §1 ofy el gEh ok S @ F w6, 8 AR
10 S5 faw =e A fEw o deat F @ v 13 S @y Aw, & St & a9 aer Ry &
& TS FAFE TH G & AT FT 120% @ Sar §1 9H & & g &9 mew gt & st wa
T

Ans X 1. 47
+ 2 50
X3 49
x4 46

Question ID : 630680193548
Status : Answered
Chosen Option : 3
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Q.7 599.99 FT 79.989% + 400.009 F 32.99% - 149.98 FT 48.062% = ? (TTRT AT FT HfeT)

Ans o 1. 540
X 2. 220
X3 184
X4 165

. 2
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=Prepare 50% Faster

Question ID : 630680193543
Status : Not Answered
Chosen Option : --

Q8 2 33k 4 F ¥ v ¥ Rersy Wl & s H FEIE F AETHT AT
Ans 1. 432
X2 421
X 3. 452
X 4 444

Question ID : 630680193552
Status : Answered
Chosen Option : 1

Q9 3z wEwr W HifE, BF 420 F 15% & Fesy T T F w7 F 356 F 25% T
Ans X 1. 9Q

X2 21

3 26

X 4 35

Question ID : 630680193534
Status : Answered
Chosen Option : 3

Q10 g FEmat & 9 F IR 760 ¥ TR UH TEA F 12% gAY FEI F 20% F W §, o St
e F ¥ 99 = A HifEw

Ans 11140
X2 1800
3 1900
x4 1240

Question ID : 630680193549
Status : Not Answered
Chosen Option : --
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M gEeRER % T Trfefae & @ #ie-ar seae 38R 3
1) 2 @lig 1 Jod 9
2) 3 Tl 2 AwF 90
3) 3 @l 5 g a¢

Ans v OreeT 1
X2 ST 2
X3 g 2 3K 3
X4 ST 3

. 2
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=Prepare 50% Faster

Question ID : 630680193542
Status : Answered
Chosen Option : 4

12 50 3 100 % & 3@ T Fh A dEwmH = sitEa W=
Ans X 1. 74

X2 755

v 75

K4 745

Question ID : 630680193553
Status : Answered
Chosen Option : 2

Q13 gHT = r% wiAew & = o W v afyr @ e B, wE s @i div T wsgled e #
frafer ofer g ¥ & 39 &F 26,05,000 3 9= I ¥ 39 #F 28,05,255 & T £ r 1 AT AT
Frfam)

Ans X 1 g
210
X3 9
X412

Question ID : 630680193535
Status : Answered
Chosen Option : 2
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Q14 sok+1_ ok, oKtz

& AT AT FTAT|

gkx2k+3_22xzzk
Ans x 1. 2;{
x2 1

1

X3 =

a2k

1
B
2

. 2
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=Prepare 50% Faster

Question ID : 630680193546
Status : Answered
Chosen Option : 2

Q.15 Afrma:rBﬂ?rmﬁa@maS:SﬁAa:rmmmaré § it B # oo IR A A
i%lmmmﬂmim,soohAaﬁrmmﬁﬁm

Ans X 1. 345,600
v 2 346,800
X3 344429
X 4.365,812

Question ID : 630680193544
Status : Answered
Chosen Option : 2

Q16 e 13 L fswr &, g Aw o 1 3T 3 0 2 &1 ofy 5@ TEsor 9w 3 L fawe @ 3 L gy fBer
feam s &, & AC w= fAsr # gy AN S # S # Eem?

AnS X113 : 12

x24:9
X313 :9
49 :4

Question ID : 630680193551
Status : Answered
Chosen Option : 1

W 1+(1 -2t +2-(1—2)2)? FT AF AT A0
Ans X 1.
v2 1
X3 =1
X4 2

Question ID : 630680193547
Status : Not Answered
Chosen Option : --
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Q.18 30 km #r gfr 7@ %= &, H#ES WA F 2 h Fow @A o ¥ A AHEF IO W oG W
aar &, ofFT T e o f O A9 sgear £, O 98 WER ¥ 1 h FF AT S| HET &
FrEafEs = |

X125 km/h
+ 2.5 km/h
%310 km /h
x4 20 km/h

Ans

. 2
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=Prepare 50% Faster

Question ID : 630680193538
Status : Not Answered
Chosen Option : --

Q.19 a 2
oy 22

Ans 20
o 1.

o]

%a‘r‘:b FT AT AT PIATI

&< 2.

< 3.

Question ID : 630680193550
Status : Answered
Chosen Option : 1

Q.20 v e, foreehr = B2l S F 15 kmvh ¥, 97 o &7 fRam & 30 km Sar § 3 avw aar €1 92
off A # 4 9E 30 e & FAG o T g1 O F @ (kmvh) # Beaer §7

X1 4
X2 3
35
X4 6

Ans

Question ID : 630680193537
Status : Not Answered
Chosen Option : ==

Section : Numerical,Logical,Analytical Ability & Reasoning
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U frafafam wew BT T e ot meRE ¥ ixam‘w

=Prepare 50% Faster

footballer
(453}

cricketer
(378)

cricketer 378 = fehahex
footballer 453 = GeaTeR

boys 329 = &Eh
St w5 et 3 Gester €, 3w e wear & aafar mr 2

Ans <129

o 2. 11

X3 43

x4 38

Question ID : 630680193558
Status : Answered
Chosen Option : 2

Q.2 ¢ farenferal & di fasa B vdien ¥, SRIST 3 THU1 F TRIER 36 U Y1 d&fhAR F o1 ¥
31ftie fd qaa I B4 30 uTa fbg1 Wit 3 9 | 31ftis A as01 A W 30 wra Bl
fasm &t wdtem ¥ fre gt Had W 37 ura fabg?

Ans 1 gisiel

X 2. FefBeR

X 3.7
X 43w

Question ID : 630680193559
Status : Answered
Chosen Option : 3
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Q.3 fg g fameal ¥ A 39 FT B 99 B FAfafEa siEen ¥ ued g (?) B ufawenfia &
Tepdl 21

11, 19, 35, 59, ?, 131
Ans X 1.85
X 2.87
X 3.89
o 4. 91

. 2
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=Prepare 50% Faster

Question ID : 630680193570
Status : Answered
Chosen Option : 4

Q4 P Q,R,S,T,U, V3R W s e RN A g B 317 3ifimgm o= $3 & P, s & aré ik df &m
WIS P, TF 1€ 3R g0 T W 37 §, 1 R 31k V 31 & Af=iwpe Ja1 31 W, P F Fesean
RARTA I8 S, UsiRWI S afde doT21 U, TH T IR WA R IsTRI Q, V
¥ 1€ 3R 41 W W AT 1 V F 1€ 3R wfFwe P o1 ¥?

Ans X 1.R
&2.T
K 3.U
X 4.s

Question ID : 630680193554
Status : Answered
Chosen Option : 2

Q5 76 faenferal Y v wam ¥ R &1 ¥ 237 §1 370 F 391 ¥ 9T M2
Ans % 1.587

X 2.55

3547

X 4577

Question ID : 630680193556
Status : Answered
Chosen Option : 3

Q.6 fg My FHlewROT ¥ X BT AiFihe A A Biferg|
9318 + 719.479 — X = 8953.625

Ans X 1.970

" 2. 1084

< 3.1109

< 4.1098

Question ID : 630680193572
Status : Answered
Chosen Option : 2
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Q.7 AfEa 3 WiE Y ge TaT §1 T8 U fig I TeT Y Far § 31 ot and 3R g F vee ufeww
@Y 3R 110 m Terar &1 fi5e a8 40 m Terar &, 370t aré 3R gear § 3k 3rua aran & W 3R W
B €& & fo1T 50 m TeTar §1 39T WTE 781 78 §1 a8 ¥, fig X W 3w wid | e ¥ vgdt ag
370+t 3R =M 7 120 m =rerar 21 faig X 3R Afza & 3w fig & o H ~gaw g& fbat 22

Ans X 1.140m
o 2.100 m
& 3.120m
& 4.130m

. 2
|xam‘w

=Prepare 50% Faster

Question ID : 630680193565
Status : Answered
Chosen Option : 1

Q.8 fy My 31gR-HYE I N, TG 31&R-HHg U fAf20a ab & ITHR g 37eR-uwg F wafda 31
g g g &1 wgde sraE ey 3iR &y 7 fawwl ¥ I 39 gW & 999 Hifeg o gHE
s PT ITHIVT T &

GLY : BGT
OLP : JGK

Ans X 1.CBP:WVL
& 2. STL:NOG
X 3.YRD : UNX
X 4.EIN:ACJ

Question ID : 630680193568
Status : Answered
Chosen Option : 2

Q.9 fi Wy fadmedl § I 39 WA BT TG Biforg Wit FFfefEa sj@ar ¥ geTaras fig (?) &
wfaeenfua & "t &1

203, 199, 208, 192, 217, 181, ?
Ans X 1.239
& 2.245
o 3.230
X 4.229

Question ID : 630680193571
Status : Answered
Chosen Option : 3

Q.10 g+ 1 37ef — &, ‘— 1 312k “x’ &, “x* 1 34ef ++ §, 3R -+ BT 34ef 4 §, A GG o BT
HA F1a Hife

18-18+3-72x12+4-6
Ans X 1.345

&~ 2.333

& 3.329

o 4.318

Question ID : 630680193573
Status : Answered
Chosen Option : 4
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Q.11 faset fAfesra e WTeT ), ‘bike roads highways cars’ @ ‘od Ik sk jk’ foi@m SITaT §1 ‘jeep
scooter highways bus’ @ ‘mj jk dn ho’ fer@T STaT &, ‘bus cycle link express’ I ‘gt fa mj
Ik’ feran sirar €, 31 ‘express ways without toll’ &Y ‘sk mn ho gt’ fer@aT SiTar 81
3 e HraT A ‘bus’ PT FE FIT EM?
Ans X 1.od
& 2.1k
& 3.gt

o 4.mj

. 2
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=Prepare 50% Faster

Question ID : 630680193563
Status : Answered
Chosen Option : 4

Q.12 37eRY & 39 FAISH BT T HISQ it &t 7 318R @ & R T ¥ e BI F T FH W)
s B quf Har 1
A_CO__A__OST__CO__AC__ST
Ans X 1.TSCACACSTOC
& 2. CSTCCACSTCO
7 3.SACCCACOCST
/< 4. STCACCSTOOA

Question ID : 630680193560
Status : Answered
Chosen Option : 2

Qs 5T Fe H, RIH & T THE B A & TS Aifee R e SOt S A adt & SmER
FE FT IR FF FT 72 FRAT AT F| AT FTFTEOT FI AT Kol FOFEl WA 87 AR

Ecscard|

HF/gaew | 9 | S| 6 | % | 1| & | 3| &8 | 4

T Y J L M T u E W Q

o 1: afe Tgen AR Mfow ae FEaT § & ol el # Afw W F fe & w9 7 Feas
famam meem
o 2: of T T wF TF B, A Wl ¥ FT F A9 AT F FHe F AT dgar e

e 3: of dtr oew Bya wew & O s34 # F w9 & geag frar S

94383 & Fe FAT FM?
Ans X 1. EQU#EU
X 2. YQJEUE
3 EQUHIE
X 4. YQU#UE

Question ID : 630680193564
Status : Answered
Chosen Option : 3
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Q.14 i feam T weq § 7 3-3ihra I W 3mfa 1

275, 463, 567, 428, 394, 663, 129

A% HAH H&T & Ugd 3 W 6 g o iy, aY fasaeit Jeansi A ugen 3ie, g 37 A qufa:
fonarear g2

Ans X 1.U®

of 2.

X 3.9R

Xaa

. 2
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=Prepare 50% Faster

Question ID : 630680193562
Status : Answered
Chosen Option : 2

Q.15 {3y 7y 378R-9Yg gl ¥, UTAT 31GR-9YE U fAfad ads HT UTe $ed §U g 3eR-9g ¥
weiftra €1 g g gl &1 wargde sraam Hiforg iR iy v fawea) 3 ¥ 39 g &1 9w Hifen
S FHI s BT IFHVT BT B

GJM : CFl :: LOR : HKN
Ans X 1.QSW:NPS

& 2.PTX:LPU

o 3.QTW : MPS

X 4.RUY:QSz

Question ID : 630680193567
Status : Answered
Chosen Option : 3

Q.16 = 31gR-A7g Y Y &, fod & A7 fedt wbR v w1 & 317 U 3T 81 39 318R-AYE &T
T BIfSTT S 3T B

Ans 1. ORVZ
2 2. MQUY
# 3. JNRV
X 4. TXBF

Question ID : 630680193569
Status : Answered
Chosen Option : 1

Q.17 R 3T 77 W2 FT IR & & Y 2 i G 31k gl 6 fAafafed saawen &1 sreaaq
Hifergl

374387 &3254 @ % 896544 $67 34#78
FoRjer sjae ¥ a1y Y 157 vg Y 2 3R 8T g B AT 2
Ans X 1.54
K 2.32

o 3.65
< 4.89

Question ID : 630680193561
Status : Answered
Chosen Option : 3



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.18 fimfeifEa st # eargde afey 3ik A &g 7y wed &1 3w fferg
A+B &1 371 & fs A, B & it 31
A-B 1 37ef & f A, B BT fd 81
A'BHI A& fH A, BHIUE R
afg R, P &I wi §, at fAmfafaa ¥ B9 a1 fasea g &2

Ans 1. P+Q-R
& 2.R+Q-P
X 3.Q-P+R
X 4.P+R-Q

. 2
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=Prepare 50% Faster

Question ID : 630680193566
Status : Answered
Chosen Option : 1

Ans

X 1.%aaD
X 2.A3RE
X 3.C3RF
" 4.B3RD

Q.19 A, B, C, D, E, F 3R G Ta Wit ferr ¥ 3uw 1 317 sifig@ aw 33 €1 ¢, B F aré siR i
WARITE A CHFAEINFN WA RIS} G, C iR D AN FafFwe da181 G, EF
aT$ 3 91 T R doT 1 E, Ui & el v R R o1 }1 G F aré sik P Jerds 382

Question ID : 630680193555
Status : Answered
Chosen Option : 4

Q.20 3775 AT, T SHRA & 3116 3eAT-37e1T dell W T8d &1 SHRA & Y-ae P JT 1 3ifdd 8, 39S
FWR qTe d IR G 2 3ifa 8, 3R 3m it 59w I 3w 2 aet 9% I wEar g o W
W@ 8 3ifdd 81 C 3R E & € daet Y aafaw &d €1 E 3R D & dia Faw < &fad wa §1 F
oftf 761 TR ¥EAT €1 G, B & 31 HUR aTel ae WX I8 81 A, E & 19 @ifd D 317 H & SR faseit
de UX ¥gaT §1 D, Y- W ¥gaT §1 C 3R H 5 al W & &, 39 dia foem a1 872

Ans X 1.3
X 2. 76
o 3. TR
X 4.
Question ID : 630680193557
Status : Not Answered
Chosen Option : --
Section : English Language

Ans

Dr. Abdul Kalam is known as
« 1.the
& 2. No article required
& 3.an
X 4.a

Q.1 Select the most appropriate article to fill in the blank.

‘Missile Man of India’.

Question ID : 630680193574
Status : Answered
Chosen Option : 1
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Q.2 Select the most appropriate option to fill in the blank.

Ans

The trains this route run very fast.

" 1.0n
X 2. for
& 3.in
X 4. over

. 2
|xam‘w

=Prepare 50% Faster

Question ID : 630680193576
Status : Answered
Chosen Option : 1

Q.3

Ans

Select the most appropriate meaning of the given word.

Remote
# 1. Relevant

X 2. Public
& 3. Approachable
«# 4. Distant

Question ID : 630680193585
Status : Answered
Chosen Option : 4

Q4

Ans

Select the most appropriate option to fill in the blanks.

The fauna around Darjeeling includes several species of ducks, teals, plovers
and gulls that pass Darjeeling migrating to and from Tibet.

& 1. find, when

& 2.finds, as long as beyond
«# 3. found, while

& 4.finding, as soon as upon

Question ID : 630680193590
Status : Answered
Chosen Option : 3

Q.5

Ans

Four sentences of a paragraph are given below in jumbled order. Arrange the
sentences in the correct order to form a meaningful and coherent paragraph.

A. Storytelling is not easy.
B. During my childhood, my grandfather would tell me stories lying under the dark

starry nights.
C. It requires the proper modulation of voice, in order to create an atmosphere of

horror, surprise, humour or peace.
D. During those storytelling nights, | have travelled with my grandfather to the
battlefield of Haldighati in Rajasthan and cried for the dead horse, Chetak.

& 1.A,C,B,D
X 2.A,B,C,D
X 3.AD,C,B
X 4.AB,D,C

Question ID : 630680193588
Status : Answered
Chosen Option : 2
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Q.6 Select the sentence with the correct punctuation and capitalization.

Ans X 1.“ls Sumeet on a days leave today?”
# 2. Is sumeet on a day’s leave today?
" 3. “Is Sumeet on a day’s leave today?”

/< 4. Is Sumeet on a day’s leave today.

. 0
|xam‘0

=Prepare 50% Faster

Question ID : 630680193579
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate article to fill in the blank.
He was born into middle-class Tamil family.
Ans 1.2
& 2. No article required
X 3.an
X 4. the

Question ID : 630680193575
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate option to fill in the blank.

The school closed tomorrow.
Ans X 1.has remained

# 2. will remain
< 3. closes
5 4. is remaining

Question ID : 630680193580
Status : Answered
Chosen Option : 2

Q.9 Select the correct punctuation mark to fill in the blank.
Yes you can have this chocolate.
Ans X 1.colon (:)
& 2. semicolon (;)
«" 3. comma (,)

#< 4.dash (-)

Question ID : 630680193578
Status : Answered
Chosen Option : 3
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Q.10 Four sentences of a paragraph are given below in jumbled order. Arrange the
sentences in the correct order to form a meaningful and coherent paragraph.

A. Most Hindus believe that going to Kashi and worshipping Lord Vishweshvara is the
ultimate punya.

B. This old lady also believed in this, and her struggle to go there was described in
that novel.

C. When | was a child, a novel called ‘Kashi Yatre’, was appearing as a serial in the
Kannada weekly ‘Karmaveera’.

D. It was the story of an old lady and her ardent desire to go to Kashi or Varanasi.

Ans X 1.C,B,D,A
X 2.D,A,C,B
& 3.C.D,AB
X 4.AD,B,C

. 2
|xam‘w

=Prepare 50% Faster

Question ID : 630680193589
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given phrase. If there is no need to substitute it, select ‘No substitution required’.

A leopard does not change its coat.
Ans X 1.stripes

& 2. No substitution required

«" 3. spots
< 4. blots

Question ID : 630680193582
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate option to fill in the blank.
What is Rachit doing? He his bath.
Ans X 1.had
" 2. is having
& 3. will have
& 4. has

Question ID : 630680193581
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate meaning of the given idiom.
Sticky fingers
Ans # 1. Atendency to steal
< 2. Ahabit to interfere
& 3. Ahabit of licking fingers
< 4. Atendency to forget

Question ID : 630680193583
Status : Answered
Chosen Option : 2
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Q.14 Select the most appropriate option to fill in the blank.

The town’s people used the bank clock the time.
Ans X 1.checking

X 2. checked
#< 3. check
" 4. to check

. 2
|xam‘0

=Prepare 50% Faster

Question ID : 630680193577
Status : Answered
Chosen Option : 4

Q.15 Select the INCORRECTLY spelt word.
Ans X 1.General

& 2. Mineral
#< 3. Several
" 4. Quarral

Question ID : 630680193586
Status : Answered
Chosen Option : 1

Q.16 Select the most appropriate ANTONYM of the given word to fill in the blank.
Accessible

This area is for civilians.
Ans " 1. restricted

& 2. reachable
5 3. possible
5 4. open

Question ID : 630680193584
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate option that can substitute the underlined word in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The manufacturing of the bridge started in 1932 and it was completed in 1937.
Ans X 1.creation

" 2. construction
#< 3. No substitution required
X 4. development

Question ID : 630680193593
Status : Answered
Chosen Option : 2
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Q.18 Select the INCORRECTLY spelt word.
Ans X 1.Approve

#5 2. Appear
" 3. Approche
< 4. Appoint

. 2
|xam‘w

=Prepare 50% Faster

Question ID : 630680193587
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The boys played a jinx on the old shopkeeper by dropping a dead mouse in a jar of
candy.

Ans . 1. prank
& 2. hoax
#< 3. No substitution required
X 4. jibe

Question ID : 630680193592
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

All of a sudden, we began to feel slightly uncomfortable.
Ans X 1.rarely
5 2. thinly
" 3. No substitution required

X 4. finely

Question ID : 630680193591
Status : Answered
Chosen Option : 3

Section : General Studies

Q.1 YRA F I AFATISR RNT $F T {59 a9 g8 o017
Ans X 1.1985

X 2. 1991

o 3. 1993

X 4.1990

Question ID : 630680193599
Status : Answered
Chosen Option : 3
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Q2 P R S gRT Sy e 3nifieT S wfaum ¥ sifpéa s mar #)
Ans X 1. &bfee gomret

X 2. fguedar

o 3. Aifds rfiar

X 4. wHifcis Bde

. 0
|xam‘0

=Prepare 50% Faster

Question ID : 630680193596
Status : Answered
Chosen Option : 3

Q.3 a1 P 91¢ &b YR &b Ugel Beld goie & IR W fAefafEd A I BT |1 H2F Ted &2
Ans X' 1. STATEIATe 165 Ul goic & THY VR & FHT 53t |

X 2.3 26 TR 1947 B ULl fbar AT 2T

X 3. 3R.%. TUHEH TSt T UBAT bald goie ULl e e

o 4. 918 fIo8T 3 gaT St gete vl foar o

Question ID : 630680193607
Status : Answered
Chosen Option : 4

Q.4 §ar §lu uRd F fobg Tsarbg i weer ¥ Red 82
Ans X' 1 3nfgem

o 2. 7T

X 3. ergy

X 4. 3igAT vd fiPaR €T g

Question ID : 630680193601
Status : Answered
Chosen Option : 3

Q.5 FATYATHT Bt AfEHT Teraed AT B off?
Ans X 1. gAR S

X 2. g H et

o 3. T B g

X 4. gAY |

Question ID : 630680193602
Status : Answered
Chosen Option : 1

Q.6 2022 ¥ ASRAM N 39 qF U AFBRI b HFAR fopat fererenir & &2
Ans  # 1.200

X 2.205

X 3.209

X 4.207

Question ID : 630680193608
Status : Not Answered
Chosen Option : --
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Q.7 fafafea ¥ ¥ fw WRdTa Toa/5z-2nfHa I59 ¥ T SAHET B o ¥ waifod sayfad
ST ST §7
Ans X' 1. 3feAM vd PR
oF 2. eg
X 3. iR

X 4. fowett

. 2
|xam‘0

=Prepare 50% Faster

Question ID : 630680193612
Status : Answered
Chosen Option : 2

Q.8 7 2022 q% U TGN & IFAR, HRd ¥ srgyfad oy o b1 H Jean fFat 1
Ans X 1.23

o 2.12

K37

X 4.19

Question ID : 630680193610
Status : Answered
Chosen Option : 2

Q.9 HRA & FAHEAT T 2011 &b IBIE GaTd & b 2011 P VM & ITAR T4ed &b 3MHS____
A g7 382/km?2 B T F

Ans X 1.344
X 2.334
< 3.314
o 4.324

Question ID : 630680193594
Status : Answered
Chosen Option : 4

Q.10 frafafEa ¥ ¥ Bt 1Ra B g 3090 IR-RFarerdt sj@en 32
Ans X' 1. g

X 2. 5PR

o 3. PUBRA YT

< 4. IR IS

Question ID : 630680193611
Status : Answered
Chosen Option : 2

QM1 yRdkg dfaene areu afifd 1 vem w4 fiha fafer &Y smafSa fosam ma en?
Ans X 1.9 1945

< 2. 19 fHdeR 1946

X 3.19 f&ieR 1945

o 4.9 3T 1946

Question ID : 630680193595
Status : Answered
Chosen Option : 4
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Q.12 yRa F W & forw 3rgede F agd IS & Heiftaa &I fFfaw B amdt §2 ixam‘%
Ans X' 1. 3738 170 =Prepare 50% Faster
X 2. 3 175
X 3. 37 160
o 4. 3% 165

Question ID : 630680193598
Status : Answered
Chosen Option : 4

Q.13 fFm=fafEd ¥ ¥ WRA WER &Y B A AiomT sifas Sl i gemar &  Jdfia 22
Ans X' 1. JUEES GBI T JTSTHT

X 2.yt e ar A are

X 3. st g fR¥am o

o 4. WARTTA P famr aie

Question ID : 630680193600
Status : Answered
Chosen Option : 4

Q.14 7y ufRaR Tared wderr 5 6 AR, 7 ¥ A 5w o ¥ FrfSa afgensii e ufdem
Faifers 872

Ans X' 1. 37 gcel
o 2. AETe
X 3. deTEr

X 4. mforge

Question ID : 630680193613
Status : Not Answered
Chosen Option : --

Q.15 = 31k wRa & fosga &5 & da AR 3R AT R G0 R g af gwaer By g A2
Ans X 1.1962

o 2.1954

X 3.1966

X 4.1951

Question ID : 630680193606
Status : Answered
Chosen Option : 3

Q.16 FaTses fean Iaifes Tafgem Bt TmuAT fhads gRT &1 7€ 2ft?
Ans 1. R IS e TH

< 2. AT et Fart

X 3. g foerg

< 4. gEwie sTet

Question ID : 630680193605
Status : Answered
Chosen Option : 2
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Ans

Q.17 Fagdl eI § TorTd # foban AT 87 82

< 1.28
o 2.26
K 3.24
< 4.30

. 0
|xam‘0

=Prepare 50% Faster

Question ID : 630680193609
Status : Answered
Chosen Option : 4

Ans

Q.18 fymfafEa ¥ & Pi-a1 YRl dfaema ¥ wifcis wdar T8 &
o 1. TRA & & P Tt ff ey o TgT 3iiR g
< 2. TR Ty T B g faRad B Aeed AT 37k TRferd HAT

X 3. T ISP WMTE, AHadTar 3R ST qer GoR Sl HIeAT e Ed 6|
2 4. %er Y I BAT 3R VAT B & AT 3MgTH T ST R I T Y AT |

Question ID : 630680193597
Status : Answered
Chosen Option : 1

Ans

Q.19 31T SIaEiG {6 eTder A Fdfdd &2

X 1. Ad®s
X 2. e\
o 3.73lg
&K 4. WHR

Question ID : 630680193603
Status : Answered
Chosen Option : 3

Ans

Q.20 YE Jorel ¥ 1800 £. ¥ B fAferaw Hiciel ) TATYAT HET HaTs 2?2

X 1598
X 2.9
7 3. 2T
o 4. PIAbEr

Question ID : 630680193604
Status : Not Answered
Chosen Option : --
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